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For each of the Pole-zero plots plots (1-4), determine the difference equation that defines the system.

1 12 |3 4 |
Sy y[n] = 0.4y[n — 1] 4+ x[n] + x[n — 1]

Sy y[n] = 0.75y[n — 1] + X[n] + X[n — 1]

S3: y[n] = —0.75y[n — 1] + x[n] — X[n — 1]

Sy y[n] = 0.75y[n — 1] + X[n] — X[n — 1]

Ss: y[n] = X[n] — X[n — 1] 4+ x[n — 2]

S : y[n] = x[n] — X[n — 1] + X[n — 2] — x[n — 3]
Sz: yIn] =x[n]+ 3x[n — 1] — $x[n — 2]

Sg:  y[n] = ix[n] —x[n— 1]+ X[n — 2] — £x[n — 3]
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For each of the Pole-zero plots plots {1-4), determine the difference equation that defines the

system.3|1. 7 12:S3 | [3: S‘J |4: Sﬂ

S1:  y[n] =04y[n— 1]+ z[n] + z[n — 1]

Sy:  yln] = 0.75yn — 1] + z[n] + z[n — 1] 1+2' | 2+ 2ep: 2=
| -0.752"! 2-0.75 pole: 2=%4
S3:  y[n]=-0.75y[n — 1] + z[n] — z[n — 1] -~
= Z2-)
Sit Yl =0TSyln—U+zfn]—zln—1] | =2 | 1+057)  Z+%%
| —0.75&

Ss:  yln]=z[n] - z[n— 1]+ z[n - 2] 3_,2 Z__,/a%.e;;ol

'_Z"+Z-2_23= 2-Zrz7 d.i!'Z:J

S: ynl=zhl-zn-1+zn-2]—z[n-— 3]/

-.

2°+52 -3}4
22.

S: ylnl=zn+ laln—1]- 3z -2 |} 4—'¢ "%;_E

Ss:  yln]=3z[n)—zn—1]+z[n -2 — Lz[n - 3

3These 8 systems are exactly the same as the other matching problems.
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